PROFESSIONAL
R EXAMINATION BOARD
@bgé%ﬂnouon Middle School Teacher
Eligibility Test - 2018
5th Mar 2019 9:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) Today’s classrooms now welcome learners. / 35 ®1 Hema A 39 Rrenfiay =1

WG giar 81
1. Talented / GTTHTRITAT

2. Diverse / [afay
3. Gifted / TfHTRICH
4, Special need / faRRy Sevade

Correct Answer :-

. Diverse / f[afay

2) Short term deficit of sleep affects learners by: / e @t sreuraftr S Rrenfda #1
AT SRl 6 :

1. increase in weight/ i & q@

2. increasing the risk of diabetes/ q@é’ CIRCLGRIKC[EI

3. weakening immunity/ PSSR UfcREr

4. reducing concentration and memory/ UhTIdl 3R F{ﬁl DI B DA

Correct Answer :-

« reducing concentration and memory/ U THdI 3R F{ﬁl DI B DA

3) Inequality in education has been reduced in India due to: / HRd o Rrem o sRuEar

i afPasRUsuE TS &:
1. Religious intervention/ HT% Waﬂ

2. Social Reforms/ JHIST JYUIR



3. Constitutional provisions/ YT graer
4. Cultural diversity/ SR fae fafderar

Correct Answer :-

 Constitutional provisions/ YT Urae

4) NIOS is an example of agency of education. / Qqﬁlﬁm , FRrem &1
TSl &1 U IeEI 2|

1. non formal / ﬁ?—ﬁﬁm
2. formal / @W

3.NGO / TAsiaf
4. informal / 3FTETR®

Correct Answer :-

« non formal / ﬁ?-\}ﬁﬁm

5) What are the family and community resources that children can draw upon collectively
called? / T UTRATR® 3R ARGIRA® FHIY F1 &, o1 IR 9= GTfe® U & s fa
§ HHd 87

1. Membership capital / Tl tFﬁ
2. Structural capital / GXEATHD Uﬁﬁ
3. Fiscal capital / RGN Q\Gﬂ
4. Social capital / T tﬁﬁ

Correct Answer :-

« Social capital / FTHTTS Guil

6) What are the ways to engage students in problem-solving strategies & extend their
thinking? / THET &1 A B1 Il § SN G H 3R 37! T o1 3m
A F ATE?

1. Use of concept formation, inquiry & synectics / SIIURUI S, Y5 dTd 3R A3 BT

SUINT

2. Addressing questions again & again/ dR-d[R YH D! HAAT HRAT

3. Talking to friends nicely/ Gl 3w ¥ I HAT
4. Giving them extra homework / 32 faRad H&AR S &1



Correct Answer :-

« Use of concept formation, inquiry & synectics / SITURUIT TS, YTy 3R RT3 BT

7) What type of reasoning is characterized by moving from the general to the particular? /

T A fIfRIP 3 3R 9¢d g¢ fFd yoR & a& &t fa=ivar 18 ol 32
1. Transductive reasoning / IR I @msﬁa ﬂﬁlﬁ"'l‘)

2. Inductive reasoning / STHATHD a® ($'ﬁﬁtd ST

3. Deductive reasoning / TS ddb (%Sﬁtd NEIEL)

4, Hypothetical reasoning / YTdh e THD ad @E@ﬁﬁwﬂﬁﬁm

Correct Answer :-

« Deductive reasoning / T ab (f%sfc?cq ISy

8) What is the part of memory that stores information that one is not consciously aware of? /

%ﬁr?a@ﬁ?mmavﬁﬁmmm%ﬁﬁﬁawﬁﬁﬂmqﬁ

1. Dual memory / Z‘ﬁ?‘ﬁ @jﬁf

2. Explicit memory / ¥ @jﬁf

3. Implicit memory / &[ﬂﬁ%ﬂ Wﬁ
4. Conscious memory / JIS Fjﬁf

Correct Answer :-

 Implicit memory / @Iﬂﬁ%ﬂ Fﬂﬁf

9) What is the phenomenon wherein previous exposure to a word or concept makes later

recollection easier? /WWW%WWWﬂWW%@ﬁWﬁmQ
91 T IR 3TH & ST 82

1. Priming / ISER

2. Deriving / a}RQﬁf

3. Subliminal perception / 3Ad Tt
4. Subconscious memory / KICERE F{ﬁf

Correct Answer :-

e Priming / PINEU



10) Children are asked to narrate a story during the administration of which test? / foa

Y& & FATE & SR g Dl BT AT & e g1 oI 82
1. Children’s Apperception Test (CAT) / qTd-3Fare TRier (@Qﬂ)

2. Minnesota Multiphasic Personality Inventory (MMPI) / fPTeT Ao It o TRi-Ieict gdes]

3. Wechsler’s Intelligence Scale for Children (WISC) / RN s%ﬁ*l@rc’ A BR ﬁl@q

4, Thematic Apperception Test (TAT) / favg_ ST TRieqor (_cﬁ'q_a)

Correct Answer :-

 Children’s Apperception Test (CAT) / STA-3faY TRI&T0r ({:ﬂﬁﬂ)

11) Learner autonomy is a characteristic of: / Rremff arawear foa #1 fatwan %?
1. Formal education / 3NT=TRa fR1em

2. Traditional education / URUR fRI&

3. Progressive education / TTforRite fRrem

4. Inclusive education / JHTART fRr&f

Correct Answer :-

« Progressive education / orTfaRiTe fRraf

12) Raven’s Progressive Matrices Test measures: / Y349 BT URIRE ﬁﬁ'\‘r ¥ HIUCT 8:

1. Intelligence / §@
2. Personality / Hfakd

3. Attitude / TG

4. Motivation / OO

Correct Answer :-

« Intelligence / §@

13) According to Piaget, children’s development is progressing through 4 stages. /

™ & SFNIR, =i 1 a1 4 TRON & ATeHH | WA HR TR
1. Physical/ Hifas



2. Emotional / HIdI(H®
3. Functional / W‘Tﬁw
4. Cognitive/ IMTH®

Correct Answer :-

« Cognitive/ IMTH®

14) Many people who were alive at that time remember exactly where they were and what
they were doing when they heard that Rajiv Gandhi was assassinated. What type of memory

is displayed here?/aﬁmaﬁwmméﬁqvﬁﬁ%mﬂam%ﬁaﬁmmﬁﬂé
zﬂﬁﬂﬁ%%ﬁMﬁm%%%aﬁﬁﬁaﬁﬁww@ﬁ | I81 {59 UPR &1 [

1. Flashbulb memory / qﬁa‘iﬁi—r Fﬂﬁf
2. Declarative memory / UIYUITE D Fﬂ?f

3. Sensory memory / Sda] Wfd
4, Semantic memory / 3T @jﬁ[

Correct Answer :-

« Flashbulb memory / qé‘qﬁﬁ Fﬂﬁl

15) Learners are not included under “Exceptional Category”. / Rrenfday

& " JqaTerE® i F arfa wnfre &) far s
1. Normal / STYRUT (ATHd)

2. Retarded / Fig (Re1CS)

3. Gifted / HfHTRITE (FTHCS)

4. Slow / 0 (el

Correct Answer :-

« Normal / TR (FiHa)

16) If a learner has difficulty in reading, then what type of learning disability? / gfe U

Rremdf w1 ug & wfers et B, ot 3R v ybR #Y arftrm srgrman @2
1. Dysgraphia / fegaithar

2. None of these / 375 I ®Ig ol

3. Dyslexia / foifaqan



4. Dyscalculia / maﬂ

Correct Answer :-

+ Dyslexia / ISEIESR

17) An infant takes time to distinguish the father from other men. This aspect of
development happens because of the following principle. / T ﬁT‘x{I 31 fUdT &t 3= H'\Wﬁ |
3R P | HHY a1 7 | Fawpre &1 g5 eI Rigia & sRur g 81

1. Whole to Part / q;U‘f@ 3

2. Centre to Periphery / RN

3. Part to Whole / Wﬁ{usf

4, General to Specific / HHY ¥ fafery

Correct Answer :-

« General to Specific / HTHII ¥ fafery

18) The famous physiologist whose work on classical conditioning influenced the field of

child psychology is: / TRIg IRR-forar fagrit (Fpforiaifore) foraeT medla sggpad
(FATRIPd B =) W fHar a1 s a1 ANfag= & &3 &) yyifad #varg, 3 §:

1. Edward Thorndike / TSdS YHSISH

2. Wolfgang Kohler / AT Ob\IGQ'R
3. Jean Piaget / St ot
4. Ivan Pavlov / 39T UTgqId

Correct Answer :-

o Ivan Pavlov / gdld LICNIG]

19) The proverb “Nothing succeeds like success” is applicable to which of the following laws

of learning? / FETAd “TPH B AT & dI¢ 3P Ghadl fHadl 317 fer & fog Faw
TR AT T 82

1. Law of exercise /3% & g0
2. Law of readiness / dUxdl & fag
3. Law of effect / UHTd o 49

4. Law of success /qbardl o (99

Correct Answer :-



« Law of effect / UHTd & FgH

20) The characteristic of behavioral objective is: / WTR?? G%Q'q CARCEILG]] %:
1. None ofabove/?qgaﬂﬁ@[ﬁé:ﬁf

2. Observable and measurable / 3AAHAIT 3R TRAT

3. Observable and Immeasurable / 3A@IH-1T 3R AT

4. Non-observable / TR-3fa@I-1a

Correct Answer :-

« Observable and measurable / FATBAY GﬁT oy

21) Which of the following is a Humanistic view of motivation? / frafefea o 9 Rom &1

HTaaTaTdt R T 7?2

1. Need for self-esteem and self fulfilment / ST B! SALIHAT AR TH T‘[ﬁf

2. Beliefs, attributions for success and failure / ¥RUII, h dl bl A 3R B AT
3. Goals, expectations and self-efficacy / €&, Irte 3R 3T TUTIHTRT

4, Incentives, reinforcers and punishers / mlﬂ, ‘E'.<i><lr>cllc 3R GUS o aTdl
p

Correct Answer :-

« Need for self-esteem and self fulfilment / T HI ARIHAT 3R 3T e

22) How many primary stages of development are present in Kohlberg’s theory on moral

%evelopment?/ﬁmﬁmwaﬁmﬁ%ﬁl@iﬁﬁﬁm%ﬁmﬁmmwﬁvm

1.3
2.4
3.2

4. 6

Correct Answer :-

23) advocated that all children have the potential to learn. / = srgifea foan ?
& Tl o=t & WA 3 emar SR 1



1. John Dewey /Sl 3\%

2. Freud / /IS

3. Friedrich Frobel / TheRe Whiaa

4. Maria Montessori / aar Iﬁ%ﬂﬂ

Correct Answer :-

« Friedrich Frobel / ThgRe WHigd

24) are creative skill practice books for children for the enrichment of their

creative thinking. / T P ITWATHSD 9" P Hadq & oI WATHS PIee 1A &
ford g B

1. Enrichment books / H¥H& W

2. Idea books / fd@R W

3. Integrated books / Qaﬂﬁ W

4. Creative books / TP JRIch

Correct Answer :-

« Idea books / faaR W

25) The key agent in Erikson’s Psychosocial stage of “Industry versus inferiority” is: /

“ufeym g9 a1’ & AN F THATHIGG WO WE 9eh § -
1. Family / URAR

2. Parents / FTT-UaT

3. Primary caregiver / A Tead

4. Teachers and peers / TR1&/® 3R ggurdt

Correct Answer :-

o Teachers and peers / e 3R ﬂ's’t%"r

26) The passion for doing anything in the absence of any compulsion or reward is

/ Tt off sremar a1 39 & SruTa ° o0 W A BT A gl
1. Intrinsic motivation / SAfGaTd SMfHURTT

2. Extrinsic motivation / JTHTI® 3N
3. Achievement motivation / mﬁ[ QTUT[
4. Level of Aspiration / 3ThI&]T T TR



Correct Answer :-

« Intrinsic motivation / SAfFATd JfHUROT

27) Which of the following is NOT a form of misconception? / fFafafaa # 3 =
TS TeTd YR 78 82

1. Vernacular misconceptions/ HIGHTNT oy §@
2. Cognitive conflicted ideas / T D TR faRielt foar

3. Non-scientific beliefs/ aﬁmﬁw J-Ilfik‘IIQ

4. Preconceived notions/ W CEIN

Correct Answer :-

« Cognitive conflicted ideas / TP TRER faRIeh faamR

28) Who strives to answer such questions as well as to understand, explain
and predict behaviors that occur throughout the lifespan? / Siaq W= 11 a1
AR P! UFH, U MR Ufaegamft #37 &1 TRy $31 F GY-3914 WG Jaral &
SaTd HIF 3T 82

1. Developmental psychologists/ EEIRIGAES J-I"Iléliz'lll P

2. Vygotsky theorist/ CIEMIREARREIREDR
3. Fraud theorist/ %h@ﬂgbf foar®

4. Erikson theorist/ TRHI RIGIddR

Correct Answer :-

« Developmental psychologists/ [dehTITHD EEICRIIEED

29) To motivate an auditory learner, the teacher should encourage him/her to

./ vl Rrenffay &1 ufva &1 & forg, Riere $1 A wirRd w31 e f$
|

1. use reading material in small units / Bt Wﬂtﬁ H Ua Grrdt &1 SUANT B3 |
2. participate in club activities and skits etc / deid o1 TfAffa 3R Ares (@Td) 31 d HRT o |
3. participate in discussions / <1 7 afeferd 71|

4. use coloured pen and highlighters while studying / UgTS ®3d JHY TMH HaH 3R gI3dsed &I
TN B |

Correct Answer :-



« participate in discussions / <t § giHferd gl

30) The effective learning as per Piaget’s theory is ./ Trare & frgia & R guTdt
rftrma 2l

1. content acquisition / A dha
2. root memorization / HeT dTc XGAT
3. active learning / Ffehd AT

4. reading by heart / THTIAT § TG

Correct Answer :-

« active learning / qfdg 3ffeH

Topic:- General Hindi (L1GH)

1) 919 1922 Ft g1 3 fT SIS BT AT UT| YR S SRS BT [ATH 4TI AT AN DI TRE-aE P
QMR g TS A1 3 A A 30 Wil ¥ d3 & T YR & A B 9gd S-YHBT B 7@ ATI
WR 3@ tfhal & faare a1 o ffwa va= ara ot ahr &1 T & @ A 3iiy WS & P sfearit
3R IS AT BT A9 4T SR I

3T & I STl & a9 g AT ST Mfearit Ateht-ardt Wt & Arenw A St Woit- ! Jerm wed A
TR od I U A IIP ST PR AT b SHNI, SIDT oiia+T Gixevd gl 14Tl

I TR P UgHhR A1 3T T Ui & IR Farse:
US: YRd <% 1922 § H frds®1 amw ur?

1, Qe &t

2. SAI BT

3. 3l &1

4, IR &1

Correct Answer :-

2) "RY Fe faga yu =,
TG HIW | YA ¥ 7g T;
2y &1 Riy Sraffi,
W SftaT BT 319] T T
qa® AP A U o
IR Maa sud I,



HIT 35 g9 Saral-$ ol

fay-zay RR Y7 ogar '#

B 9 &l U1 g | A

gz frgx W diue wan

IUY UL Bl Ugd - AU 1T it & IR Ia1su:

US: HIATE & SNR, ‘Ygd | AT Y ¥ Yg a1’ Ufa &1 vrard «r 82
1, TH & G $1 gTad A 99 81 75 5 |

2. Lt PIHA A DT IRE U I T ST BT 5 H gd TH ¢ |

3. KT & o Wi\ & 99 A @1 ] |

4. TUoel gU O & TR gaIdl - |

Correct Answer :-

. g P 9iF Bt @RE S A T e B ga B g S <

3) IRY e faya yu a9,
TG |9 A1 ga ¥ qg ;

¢ w1 &1 Ry srafkfi,
X SftaT ST 31Y] T T
g Jas AR SIus Sfa
IR =faa sid Ia+,

T B G5 SaTd1-Hor
fay-zray AR ¢ sgar &
B 1 oI d U g1 | et
g Rier | due s
ITYE U B! UgH 1 T 7T usl F IWR Ia8u:
A Rigw &1 o 7 82
1. ggd

2. 1R

3. 9

4, ol

Correct Answer :-



4) JRY W fayd yu a=,

g HIF A1 YA ¥ g a;

¢ woT=1 o1 Ry sraff,

<X SftaeT BT 319] 7T T

Ja® Jad A due o

TR iaa Haa Ia+,

T 38 I3 SaTal-&HuT
fay-zray RR ¢ wgar &

B 9 5 U g1 9 e

= Ry M dus wran

YT UL B Ug@R Ai1d fAT TT Yol & IR T8 T:
UL ‘Yad-Jad’ A o1 a1y 82
1. IRER

2. gR-€R

3. el ¥

4,399

Correct Answer :-

- B

5) IRY Bar faga gu e,

Tgd HIF A1 YA ¥ Jg a;

3 v 31 Riy sraRfa,

A STiaeT &7 319] 7T e

qad Jad AN 4lud ofe!

IR =fad srHa T,

T Y8 Y Sardl-our
fay-=ray R 47 wear <&

B 9 5y g J e

g R W due o

ST U B UgH - AT 7T yeii & IR 9a1sT:
U RTAY BT F1 3 g 32
1. A Y

2. S 9



3.AHY
4, B

Correct Answer :-

6) IRY Tar faga yu e,

Tgd 91 A1 gd ¥ 9g a;

2 uehTT 1 iy sruffir,

A SiraeT &7 379] 7T e

Y AP H U o

IR fad sraa Ta-,

T Y8 Y Sardl-Hur
fay-zray RR ¢ ogar &

BT A1 oIt 9T g3 | fiers

Rigr Rigy W iues wran!

ITIF UL B UgpR - AT 7T yel & IR 9913
U <Ia’ PT faaH Wes T 82
1. 7T

2. ddd

3. 9aH
4, RIA

Correct Answer :-

7) SRY o faga yu e,
TG | 1Y ¥ Gg ;

2 woT=1 1 Riy sruffi,
X Sfta= BT 31Y] 7T e
Ja® JaP AR 41U o
TR iaa HEd Ia4,

T I8 Y Sardl-Hur

fay-zray RR ¢ wgar &



B A ot uran g3 ¥ frer

g R | diues o

SUad U= &1 UgHR -1 f3T 7T wsil F IR Ia13C:
WA: U $1 gargardt 1 82

1. R

2. STl

3. Toreet

o

Correct Answer :-

8) IR T faya yu o,

g HIF A1 YA ¥ g a;

T Ut BT Ry Sraffir,

X Sfta= BT 31Y] 7T e

Ja® JaP A due o

IR faa saa T,

T I8 Y SaTdl-H ol
fay-zray RR 47 wegar &

B 9 5 uTan g7 § e

g Ry W diues o

IuYad TR ol Ugdh? - T 1T weil & IR Ia1s¢:
TH: ARY BT THFTS Mg 1 72
1. Y

2. YA

3.

4, I

Correct Answer :-

9) WY T faga yu &,
Hge HIF |1 g ¥ qg a;



fay-zray RR g7 wgar &

B 9 5 uTan g1 § e

g R W diues o

ST UL B YgdhR -1 fIT 71T w4l & ST qa1s¢:
W §9 Hiddr | HfaAt = 1 RN §f 82

1. A9 I GIRI B I8 fe@™ B

2. E1Ub B SaTdl S Dt

3. AUP I IATA B Bl

4, 79 ¥ SU® A DI |

Correct Answer :-

. P A TR P B fe@m F

10) HRY Bar faga yu =,

oo 119 AT YA ¥ 9g a;

2 UehTRT BT iy sraff,

A STaeT &1 379] 7T e

qa® AP A GIU e

R iad HEa I,

T Y8 g9 Sardl-&ur
fay-=ray RR ¢ wgar &

BT A1 oTet 9T gt | fiers

g Rige a¥ duss s

IUYa U= $1 Ughr -1 f3U 7T weif & IR Ia13¢:
WA ST BT TP 3= AITH FIT 751 82
1. RMAPH

2. UIdh

3, 3IIT

4, 5dcid



Correct Answer :-

11) TRY Har faga U e,

TG U 1 Yd Y Gg a;

S vt &1 Ry Sraf¥fira,

X STaeT &7 379] 7T e

qa® Jad A 41U of e

IR fad sraa T,

T ¥ g3 SATdl-H7

fay-zray RR ¢ wgar &

B 9 5 uran g1 o e

Rrgw Ry W Sy o

IuYed Ui &1 Ugh? 1 fou 1T uel & 3R Sarsu:
UL: Ygd BT 34 THSH TP faay g Fa138?
1. 68T

2. B

3. HOR

4. HIaT

Correct Answer :-

12) HRY et faga yu =,
Tgd 9 A1 gd ¥ 9g a;

2 uehTRT 1 fRiy sruffie,

o SfraeT &7 379] 7T e
qP AP H U o
R iad HEd Ia,

T I8 Y Sardl-&ur
fay-=ray RR ¢ wgar A
HEEECRIEIGERIERE!
e Rigy W v sen
SUYH UL B T T T Y il & IR TS



UL: $Us P G g A SIe-1 A1 e?

1. O ¢ Tl &

2. S GRoT 30T fhRu o ARY 3R ISl FRll g |
3. S YRAR 0T TR SR AT U Rl g
4, Y SRS B GG IRS 3R Bt B

Correct Answer :-

o O QR ST fpRu | IRY SR IS BRaAT |
13) HRY Per fage yu ¥,

g HIF AT YA ¥ g a;

g yoTR1 @1 Riy srufifi,

A Sftae BT 319 7T Ta!

Ja® JaP AR 4y o

IR =fiaa Hrae I,

T I8 g3 SATdl-H 7

fay-zray RR ¢ wgar &

g 1 oe v g | frer

Rrgw R W Sy o

IuYed Ui &1 Ugh? - fou 1T usl & IR Tarse:
U YRgd Ufeaal 7 aR &9 32

1. Had Iaq

2. Had DA

3. dad Yidd

4. SWIdd gt

Correct Answer :-

. SWRIad gt

14) TRY Har faga yu e,
oo 119 AT YA I 9g a;

2 webrar 1 Riy srafkfr,
AR e &7 379] 7T e
qa® Jad A Sue oa!



IR Yad S Ta4,

T Y8 g9 Sardal-&ur

fay-=ray RR ¢ wgar &

B 9 ot I g | e

Rrge R W due o

IT U= $ Ugdr - f3T 7T weil & IR Ia1sT:
U UEd Ut & fage fead aaft ard st @2
1. AEc &

2. 4 & UHIRI

3.dUb 9

4, 995 9

Correct Answer :-

. AU Y

15) HRY ar faga gu =,
g | Y ¥ Gg °;

2 yoTT 1 iy sruffir,

o Sftad BT 3197 T e

Y AP HR U o

IR faa sraa Ta-,

HIT Y8 g™ SaTell-$Hor

fay-=ray R 47 wear &

BT ol T g J e

Rrge Rigy W diue o

SUad U F1 g 1 3T 7T yel & IR 9a13T:
: SR BT o1 THgrar @ faeiv Wsg Jargw?
1. R

2. W

3. gRfAd

4, T

Correct Answer :-



16) TRY Har faga U e,

g WIW A1 g ¥ Jg d;

¢ U1 1 iy sruffire,

AR e &7 319] 7T e

Ja® Jad A 41U o e

IR iad HEa Ia+,

T Y8 g9 Sardl-&ur

fay-zray R 47 wgar &

T 9 5 uran g1 J fer

fRrgw Rgy W Sius o

SUYad Uil $1 Ug A 3T 7T wsil & SR 9a13¢:
TY: <d¥ SHa- BT 3] 716 T UfRT BT YT 32

1. SIRT-STH &t 3331
2. S &t 33T
3. SfaH & Sfie™ HR o B 3T

4, NI P DI T3]

Correct Answer :-

« SiiaH 1 SfeTa PR o Bl 3T

17) ST 1922 B §1 S &1 SIS ST AR AT YR < IS BT AW AT 39 AR DI TRG-E P
SR g1 USd A1 3P AR 7 30 W@ R 3 F fIT YRd & il &) 9gd S-UWHT B 36T AT
TR 3P| yAfHal F Raeme a1 @) R 3= ard ot @ 41 T 8 @ A Sy W= & P et eiv
Jd AT BT AT 4T TR ]|

3 & T ST &b a7 IgA AT B rfeardt Aeh-ardt @dt & aream I St Ao Ferr wd A1 W
Tq I S A ISP T HTH YT T STHIET, ST Siia- Gikewd gl 1Tl

I T B Ugh 14 faT Y ue & IR Ta18T:
UL AT BT ygigart o1 82

1, 9l

2. YD

3. 39

4, B

Correct Answer :-



18) 14 1922 @1 g1 I &Y SRS PT AR UTI HIRT 1 A BT AT AT| U AR Bl aRG-E &
TR T USd A1 3R I 7 30 W1 IR HA & T UR & ATl 31 95 S-YHHT B @7 AT
TR 3P YAfHal & Raee as @) fRwd wa= ard Ot a1 41 T 81 a1 A Sy W= & P At eiv
JAP AT BT AT 4T FRTH I

3T & A STl & d1e @ a1 BT fearit Weh-ardt @<t & aread | 3ru= Aeht-ET Fer #ed A1 R
TG AT A AP ST MTH 3(UAT §P STHMT, STDT Sila-T Giba gl T[Tl

ST TR B UgdhR 1 f3T T w4l & SR qarsu:
U= TATHT § T T USdl 41?

1, Had ST

2. B AR

3. Bad YABHI

4. SWIdd gt

Correct Answer :-

o SWRIad g+

19) 1 1922 @1 g1 I &Y SR PT AR AUTI HIRA 1 A BT T AT| U AR B aRG-E &
AWTIR T USd A1 3R I 7 30 Wi g H1 & T URa & ATl &1 Igd S-YHST B @7 AT
TR IT@! YufHal & faTw ds @ fewra T@= arat o i1 &1 0 & T A Sris U & P Snfearit aiv
JP AT BT ATH 4T FRTH I

3T & 1 STl & S 8- a1 BT fearil Weh-ardh @t & aread | 3ru= Aeht-1ET Ferr d A1 R
TG AT A AP S MTH YT 8P SHMT, STDT Sila- gibd gl T[Tl

ST TR B UgHR 1 fET T w4l & SR qa1su:
U ST fhd TSR $T YA &2

1. gferd

2. TR

3. gaquf

4. 3Tt

Correct Answer :-

20) 91d 1922 B g1 I AT S BT AT AT YR 1 S FT AT ATI U AN Pl aRE-0RE P
TR e TS A1 3 A 7 304 Wi R 31 F R URA & ANl B 9gd SA-YHWBT B @M AT
TR 3P YAfHal & Raee ae- @) fRwd 3a= ard ot @1 41 T 81 a1 A Sy W= & P et eiv
JP AT BT ATH AT FRTH I

3e & T ST & o 7§ a1 DT snfearit Aieh-ardt Tt & wreaw A 3ru AT Ferr wd A1 R
TG U A IAP dIF MTH YT §P UM, ST Siia- gibd gl Tl

ST TR P UgH 1 f3T 7T i & IR Fa1sT:



U=H: ‘ST & a1 A2
1. foRar ger

2. S0 QA IS Tel

3. 39

4, SR 9]

Correct Answer :-

21) 91d 1922 BI g1 I AT S BT AT AT YR S S FT TAT Y71 YA ART DI ARE-0RG P
JWUTIR e USd A1 30T AR 7 3 W@ R a1 F T YR & Al &) g SU-UWHT B 36T AT
TR IT@! Yufeal & arw aea @) fRvra v@= ara ot @i 21 3R & @i A s weRr & P snfearit siv
IS AT BT AT 4T FRTH I

TS & A STl & S 75 aret BT STfearet Areh-ardt Qeft & wrerd | g AN Ferr R IR
T I U A ISP ST ATH YT T STHIET, ST Siia- Gk d gt 1Tl

IR TR B UG A 3T T gy & IR 9a13T:
WH: ‘PP YR | $I UIg o1 82

1. AT

2. 3178 UGRT

3. A

4, TR

Correct Answer :-

. Sy U™

22) 91d 1922 B g1 I AT S BT AT AT YR S S FT TAT AUTI YA ART Pl ARE-0RG P
TR A USd A1 3T A 7 v+ @1 IR H & I URT & a1 B 9§ S-YHBT HR @7 AT
TR @] YufHal & farw dex @) fevra v@ arat ot @i &1 ¥R & @i A s w1 & P snfearit siv
IS AT BT AT 4T FRTH I

TS & A STl & S 75 aret BT STfearet Areh-ardt Qeft & wrend & g AN Ferr R IR
T I U A IAP ST ATH YT G STHIET, ST Siia- Gikebd gl 1Tl

SR TR B UG A1 3T Ty & IR 9a1gT:
A prar fFa w nfia gid 82

1. T[T

2. Wal

3. Hdl UTa

4, OO



Correct Answer :-

23) 914 1922 BI g1 I AT S BT AT AT YR S S FT TAT AUTI U AR DI ARE-0RG P
AR WA TS A1 3 I 7 3 Wil ¥ F31 F T YR & ANl &) Igd S-UHDT B @7 AT
TR @) YufHal & farw dea @) fewra T@ arat ot v &1 R & & A s w1 & P nfeardt siv
JAP AT BT AT 4T FRTH I

3T & ¥ STl & §1 g+ a1 BT fearit WAt @t & aread | 3ru= AT e #ed A1 uR
T A S A IAP ST ATH YT §h STHIET, ST Sita- GiRebd gl 1Tl

SR TR B UG A1 3T 7Ty & IR Ia13T:
e faeme A TR

1, fadzh

2. dcdH

3. dagd

4, GRS

Correct Answer :-

24) TG 1922 B g1 I AT S BT AT AT YR S S FT TAT AUTI U AR Pl ARE-0RG P
AR WA TS A1 3R W 7 3 Wi ¥ F31 F AT YR & ANl &) 95 S-UHDT B 76T o
TR IAP! YAfHal & Raare as @1 R 3= ard Ot a1 41 T 81 a1 A Siiy W= & P At eiv
JAP AT BT AT 4T FRTH I

3TY & ¥ ST b 91 I8 a1 DT fearit Atef-ardt Weit & areay F 9+ AT e Hd A1 uR
T A U A IAP ST ATH YT §H STHIET, ST Sita- GiRebd gt 1Tl

SUY TR B UgHR A1d T Y 94l F SR qa1s¢:
U= URgd e ® {5 ufva=r &1 R gen 82
1. TacizIdl Ul & §1G

2. WA g4

3. 3ffgepTa

4, TT7d ST AT Fzor

Correct Answer :-

25) 91d 1922 B g1 I AT SIS BT AT AT YR 1 3RS FT TATT AUTI U AR Pl ARE-0RG P
MR g4 USd A1 30T IMET 7 U+ a1 I H3A & T YR & AN Y 95d S-UHPT HR @7 AT
TR IT@! YHfHal & fEarw ds- @1 fewrd Ta= arat O a1 &1 0 & @1 A SHisr WS & P Sfearit 3R
S A HT A A ARIAY



3T & T STl & oid ¥gH dret DI SATfearit Wieh-Ardl Wl & A1 ¥ St AT Jerar Hd A1 W
T I U A ISP ST ATH YT T STHIET, ST Siia- Gikebd gf 1Tl

SR T B UG A1 3T Ty & IR 9a13T:
W= Snfeardt 5 wgd 32

1. TP UHR & 41 Bl

2. Uh bR I YR !

3. SIS 1

4, GG I

Correct Answer :-

o SFSITd &1

26) 1A 1922 DI g1 I AT S BT AT AT YR S 3RS BT AT AUTI U AN DI ARE-0RG P
AWTR A USd A1 3R I 7 0 W1 g A & 1T URd & AT 1 Igd SI-YWST B @7 AT
TR 3P YAfHal & Raee de- @1 fRwd Ia= ard Ot a1 1 T 81 @1 A Siiy W= & BT Srfeardt eiv
JAP AT BT ATH 4T FRTH I

3T P T STl & S 361 aTd P ST Hiefh-Ardt Wit & AredH | S AN Ferdr I A1 W
TE A S A IAP AT ATH YT §H STHIET, ST Sita- GiRebd gl 1Tl

SUY TR B UgHR A1 T T w4l & IR Fa1s¢:
U= U TAT 1 Bd A2

1, YT D1 GRIgTe WA & ferg

2. 301 W g A o ferg

3. W &1 & ferg

4. gHE fom & for

Correct Answer :-

« 3O Y g oA & ferg

27) 91d 1922 B g1 I AT S BT AT AT YR 1 3RS FT TAT AUTI 3T AT DI ARE-0RG P
AWTR T USd A1 3R A 7 30 W1 g S & 1 URT & AT a1 Igd S-YWST B @7 AT
TR 3P YyAfHal & Raare de @1 fRwd wa= ard Ot @1 41 T 81 a1 A 3yl W= & P ATfearit oiv
JAP AT BT AT AT FRTH I

3Ty & T STl & o 7§ a1 DT snfearit Ateh-ardt Telt & wread | ru+ AH-IIET e Fed A1 uR
TE A S A IAP ST ATH YT g STHIET, ST Sita- GiRewd gl 1Tl

ST TR B UgHR 1 T 7T w4l & SR qarsu:

U: 3991 yufepal & fEare sy uer # o At wenta 337 At
1, Hiom

2. YTt



3, ®IT
4, 48T

Correct Answer :-

28) 19 1922 ®1 g1 39 3 RIS BT AR YT YR 1 SN BT TATH YT 3 AN B TRE-av8 P
TR e Usd A1 3 IR 3 30 T Q¥ A F 1T YR & @il I Igd ST-UHST T T UT|
TR IT@! YufHal & faTw de- @1 fewra @ ara o v &1 ¥R & AT A Srisr USRI & P snfearit eiv
FP AT BT AT 4T FRTH I

3T & A STl & S T8 a1d BT snfearit Weh-ardt @<t & wreaw A sru Aeht-ET Jern wvd A1 R
9 A S A ISP ST ATH (YT §H STHIET, ST Sita- GiRwd gl 1Tl

ST TR P UgH 4 fu 7T sl & S<R Ia13¢:
WH: TSI | a1 32

1. ST A DI ol

2. Had HRUIIYO]

3. Bad AR

4, JISATR 3R HROGIHOT ST

Correct Answer :-

o ISR 3R HROGIYOT ST

29) 91d 1922 FI g1 I AT S BT A AT YR 1 3 BT AT AUTI U AN Pl aRE-RE P
ATTIR T USd A1 3R AT 7 S0 W1 g HA & T URa & ATl &1 Igd S-UHST B @7 AT
TR IT@! YufHal & faTw ds @1 fewra @ ara ot i &1 ¥R & @ A Srisl USRI & P snfearit oiv
JP AT BT AT AT FRTH I

3T & " STl & S Y8 a1d BT snfearit Weh-ardt @<t & aread A ru Aeht-AET Ferr wd A1 W
W9 A S A ISP ST ATH (YT g STHIAT, ST Sita- Gibd gl 1Tl

SUYa TR $ UgHR A T 1Tyl & IR I415T:

T AR | B A 6 ghft 2
1. 9
2. T[0T
3. 901
4. 9f3

Correct Answer :-



30) ITd 1922 Pt 81 37 AT TSI BT AT AT WR =M RIS BT TATH UTI 37 ARN D RE-RE P cATER W
Tsd | U A A A W1 R HA F AT YR & dRN Bt 959 S-UTDHT B @1 4T TR IADT Yuibal
& faaw de & fewra waq ard oft & 21 TR € T & 3iiy U1 & PraT snfeardt 3R I AaT BT AN AT FiRw

RIS

38 & I STl & o1 ¥gA AT Bran St Wieh-ardl Wt & Areaw F ueit WS- Fern wd A W od |
ST 7 3P ST B YT §F STHIT, IADT Sl b d gl 14Tl

SR TR B UG A1 3T Ty & IR 9a1sT:
w: ward &1 fae «an g

1. Hdsl!

2. 3ff

3, faueft

4, TRATS

Correct Answer :-

o A

Topic:- General English(L2GE)

1) Read the passage carefully and answer the question given below:

Using the Hubble telescope a new galaxy has been discovered near the Milky Way. This galaxy is
merely 30 million light years away from our planet and has been nicknamed Bedin 1. 3000 light
years at its greatest extent, it is only a fraction of the size of the Milky way. Not only tiny, it is
also incredibly faint.

Bedin I was accidentally discovered due to this difference in the luminosity and temperature of
its stars. The team was studying white dwarf stars within the globular cluster NGC 6752 of the
milky way galaxy, when they observed a compact collection of stars in the outer fringes of the
area. Careful analysis of their brightness and temperature revealed they did not belong to the
milky way, but rather were millions of light years more distant.

Based on these observations, astronomers have classified the galaxy as a dwarf spheroidal
galaxy. These galaxies are defined by their small size, low luminosity, lack of dust and old stellar
populations.

How can we identify a dwarf spheroidal galaxy?

1. By their small size and low luminosity

2. By their distance from the milky way

3. By their difference in luminosity and temperature compared to the milky way

4, By using the Hubble telescope

Correct Answer :-



» By their small size and low luminosity

2) Read the passage carefully and answer the question given below:

Using the Hubble telescope a new galaxy has been discovered near the Milky Way. This galaxy is
merely 30 million light years away from our planet and has been nicknamed Bedin 1. 3000 light
years at its greatest extent, it is only a fraction of the size of the Milky way. Not only tiny, it is
also incredibly faint.

Bedin I was accidentally discovered due to this difference in the luminosity and temperature of
its stars. The team was studying white dwarf stars within the globular cluster NGC 6752 of the
milky way galaxy, when they observed a compact collection of stars in the outer fringes of the
area. Careful analysis of their brightness and temperature revealed they did not belong to the
milky way, but rather were millions of light years more distant.

Based on these observations, astronomers have classified the galaxy as a dwarf spheroidal
galaxy. These galaxies are defined by their small size, low luminosity, lack of dust and old stellar
populations.

How did the astronomers discover this galaxy?

1. By observing a cluster of stars that had a different brightness and temperature
2. By observing these stars were millions of light years more distant

3. By looking for it

4. By studying white dwarf stars

Correct Answer :-

* By observing a cluster of stars that had a different brightness and temperature

3) Read the passage carefully and answer the question given below:

Using the Hubble telescope a new galaxy has been discovered near the Milky Way. This galaxy is
merely 30 million light years away from our planet and has been nicknamed Bedin 1. 3000 light
years at its greatest extent, it is only a fraction of the size of the Milky way. Not only tiny, it is
also incredibly faint.

Bedin I was accidentally discovered due to this difference in the luminosity and temperature of
its stars. The team was studying white dwarf stars within the globular cluster NGC 6752 of the
milky way galaxy, when they observed a compact collection of stars in the outer fringes of the
area. Careful analysis of their brightness and temperature revealed they did not belong to the
milky way, but rather were millions of light years more distant.

Based on these observations, astronomers have classified the galaxy as a dwarf spheroidal
galaxy. These galaxies are defined by their small size, low luminosity, lack of dust and old stellar
populations.



How distant is Bedin I?
1. 30 million light years
2. 100000 light years

3. 6752 light years

4, 3000 light years

Correct Answer :-

* 30 million light years

4) Read the passage carefully and answer the question given below:

Using the Hubble telescope a new galaxy has been discovered near the Milky Way. This galaxy is
merely 30 million light years away from our planet and has been nicknamed Bedin 1. 3000 light
years at its greatest extent, it is only a fraction of the size of the Milky way. Not only tiny, it is
also incredibly faint.

Bedin I was accidentally discovered due to this difference in the luminosity and temperature of
its stars. The team was studying white dwarf stars within the globular cluster NGC 6752 of the
milky way galaxy, when they observed a compact collection of stars in the outer fringes of the
area. Careful analysis of their brightness and temperature revealed they did not belong to the
milky way, but rather were millions of light years more distant.

Based on these observations, astronomers have classified the galaxy as a dwarf spheroidal
galaxy. These galaxies are defined by their small size, low luminosity, lack of dust and old stellar
populations.

What is the name of the newly discovered galaxy?
1. Milky Way

2. Bedin |

3. Dwarf Spheroidal Galaxy

4, NGC 6752

Correct Answer :-

e Bedin |

5) Read the below extract from a poem and answer the question that follow:

"Mother dear, may I go downtown
Instead of out to play,

And march the streets of Birmingham
In a Freedom March today?"

"No, baby, no, you may not go,
For the dogs are fierce and wild,



And clubs and hoses, guns and jails
Aren't good for a little child."”

"But, mother, I won't be alone.

Other children will go with me,

And march the streets of Birmingham
To make our country free."

"No, baby, no, you may not go,
For I fear those guns will fire

What do you infer from the line “for the dogs are fierce and wild”?
1. That dogs may shoot at the participants of the march

2. That the dogs are not peace loving

3. That the dogs will bite all who march

4. That there are people who are like dogs and are dangerous

Correct Answer :-

¢ That there are people who are like dogs and are dangerous

6) Read the below extract from a poem and answer the question that follow:

"Mother dear, may I go downtown
Instead of out to play,

And march the streets of Birmingham
In a Freedom March today?"

"No, baby, no, you may not go,

For the dogs are fierce and wild,
And clubs and hoses, guns and jails
Aren't good for a little child."”

"But, mother, I won't be alone.

Other children will go with me,

And march the streets of Birmingham
To make our country free."

"No, baby, no, you may not go,
For I fear those guns will fire

What is the permission being asked for?
1. To go out on a trip with friends

2. To find a singing school

3. To go to church

4. To participate in a freedom march

Correct Answer :-



» To participate in a freedom march

7) Read the below extract from a poem and answer the question that follow:

"Mother dear, may I go downtown
Instead of out to play,

And march the streets of Birmingham
In a Freedom March today?"

"No, baby, no, you may not go,

For the dogs are fierce and wild,
And clubs and hoses, guns and jails
Aren't good for a little child."”

"But, mother, I won't be alone.

Other children will go with me,

And march the streets of Birmingham
To make our country free."

"No, baby, no, you may not go,
For I fear those guns will fire

What is the mother’s worry?

1. That Birmingham was too far to travel
2. That there won’t be others in the march
3. That the march would be tiresome

4. That there will be violence and shooting

Correct Answer :-

¢ That there will be violence and shooting

8) Read the below extract from a poem and answer the question that follow:

"Mother dear, may I go downtown
Instead of out to play,

And march the streets of Birmingham
In a Freedom March today?"

"No, baby, no, you may not go,

For the dogs are fierce and wild,
And clubs and hoses, guns and jails
Aren't good for a little child."”

"But, mother, I won't be alone.

Other children will go with me,

And march the streets of Birmingham
To make our country free."

"No, baby, no, you may not go,
For I fear those guns will fire



Who are the two people in this conversation?
1. Other children and the poet

2. The poet and the child

3. A child and its mother

4, A child and her friend

Correct Answer :-

e A child and its mother

9) Fill in the blank with the correct option in the given sentence:

The weather condition in a desertis usually _______ arid.
1. extensively

2. extraneously

3. extreme

4, extremely

Correct Answer :-

o extremely

10) Which of the following options best combines the two given sentences?

They had finished their dinner. They went to bed.

1. As soon as they had finished their dinner, they went to bed.
2. No sooner they finish their dinner they went to bed.

3. No sooner did they finish their dinner then they went to bed.

4. Before finishing their dinner they went to bed.

Correct Answer :-

« As soon as they had finished their dinner, they went to bed.

11) Choose appropriate articles for the given sentence:

heavy rainfall last week was ___ disaster to crops that were already in ___ dismal state.



1. No article required, an, no article required
2. no article required, a, the
3.The, a3, a

4. The, no article required, the

Correct Answer :-
e The, a, a

12) Choose the appropriate option that rewrites the given sentence in its active voice.
The plants are being watered by the gardener.

1. The gardener is watering the plants.

2. The gardener was watering the plants.

3. The gardener has watered the plants.

4. Gardener waters the plants.

Correct Answer :-
» The gardener is watering the plants.

13) Choose the appropriate synonym for the highlighted word in the given sentence.

The fashion of colouring hair has become very ephemeral.
1. transient

2. indestructible

3. imperishable

4. permanent

Correct Answer :-

e transient

14) Choose the appropriate tense to fill in the blank in the given sentence:
I am sure he after his parents, if he rich.

1. will look, becomes

2. is looking, became

3. looks, becomes

4. would look, was becoming



Correct Answer :-

o will look, becomes

15) Choose the appropriate antonym for the highlighted word in the given sentence.

It was an inconsiderate act on his part to throw his aged parents out of his house.
1. thoughtful

2. insensitive

3. hurtful

4, boorish

Correct Answer :-

* thoughtful

16) Choose the appropriate pronouns for the given sentence:

Let make the Earth pollution free as planet is .

1. us, this, ours
2. them, our, his
3. me, their, mine

4, me, that, ours

Correct Answer :-
e us, this, ours
17) Choose the appropriate prepositions for the given sentence:

When I fell the river, I had to swim the river to rescue myself the
water flow.

1. into, across, from
2. onto, upon, into
3.in, upon, along

4, into, over, with

Correct Answer :-

e into, across, from



18) Choose the appropriate conjunction for the given sentence.

The boy is intelligent also very talented.
1. or

2. but

3. and

4, yet

Correct Answer :-

e and

19) Choose an appropriate modal for the given sentence:

It is nearly four o’clock.The children be home by now.
1. could

2. will

3. shall

4, can

Correct Answer :-
o will

20) Choose the option that best explains the highlighted expression:
Let there be no bad blood between the two royal families.

1. villainous souls

2. ill feelings

3. difference of opinion

4, illegitimate children

Correct Answer :-

o ill feelings

21) Choose the option that best explains the highlighted expression:

After having lost all his money he was back to square one.



1. was on the streets
2. had to start all over again
3. began begging

4. turned to his family for support

Correct Answer :-
« had to start all over again

22) Choose the option that best transforms the sentence into its Indirect form:

The teacher said, ‘Bravo! You have done very well.’

1. The teacher wished us saying that we had done very well.

2. The teacher reprimanded us saying that we had done very well.
3. The teacher warned us saying that we had done very well.

4, The teacher applauded us saying that we had done very well.

Correct Answer :-
¢ The teacher applauded us saying that we had done very well.

23) Choose the option that substitutes the given phrase appropriately.

A person who stands by but does not take part in an event
1. Audience
2. Bystander
3. Passer by

4. Spectator

Correct Answer :-

e Bystander

24) Choose the most appropriate determiner from the options given below.

shoes are under the bed.

1, Blue

2. Your



3. Yours

4, Torn

Correct Answer :-
e Your

25) Read the sentence carefully and choose the option that has an error in it:

When the limestone just below the ground surface dissolves, the lands collapses and form ponds.
1. just below the ground surface dissolves,

2. the lands collapses

3. When the limestone

4. and form ponds.

Correct Answer :-

» the lands collapses

26) Fill in the blank with the correct option in the given sentence:

You are --efficient to do this work.
1. mis--

2. non--

3.in--

4, un--

Correct Answer :-

27) Fillin the blank with the correct option in the given sentence :

A person well-versed in the practice of speaking with no lip movement is called a ventriloqu--.

1. --ism
2. --al
3. --itive

4, --ist



Correct Answer :-

e —-ist

28) Fill in the blank with the most appropriate preposition from the options given.
Smallpox has been eradicated India.

1.in

2. on

3. for

4, at

Correct Answer :-

29) Change the given statement to indirect speech.

Tom: “I’ll be there at eight. Is that all right?”

1. Tom said that he would be there at eight and he checked if it was all right.
2. Tom said that he will be there at eight and asked if it was all right.

3. Tom told that he would be there at eight. And asked if it is all right.

4. Tom said he will there at eight and asked if that is all right.

Correct Answer :-
o Tom said that he would be there at eight and he checked if it was all right.

30) Choose the right tag:

Dogs love meat, ?
1. aren't they

2. are they

3. do they

4. don't they

Correct Answer :-

« don't they

Topic:- Social Science (SSC)



1) Who is the political head of Cabinet secretariat? / Aftsa GRiaray &1 Ie-ifae W@ o1 82
1. Prime Minister / WUTTHAT

2. Secretary / gfd

3. Cabinet Secretary / HHed gfug

4. Cabinet Minister / faac H3I

Correct Answer :-

« Prime Minister / UUTTHAT

2) What is also called as the ‘Hare system’? / ‘@R UG’ HI 3R FT $HgT STl &2

1. List System / ﬁiﬁ (ﬁ“lﬁ) YTt
2. Alternative Vote System / ddfetdes Gl JUMTEt

3. Category Based System / goft (%é‘lﬂ) YT Jorrei!

4. Single Transferable Vote System / Tshd Gl offr i Jomel!

Correct Answer :-

. Single Transferable Vote System / Uhd S¥IdRUNY dIc YUt

3) Which is not a part of the National Action Plan on Climate Change? / fad Ao Slerdrg

uftads W It o are 1 fow w6t 82

1. National Water Mission / ?T@'q oI iR

2. National Mission on Pollution Control / QT@T{ UgyUT [GRELRERE

3. National Mission on Sustainable Habitat / ?T@'q od gafaror fi=E

4, National Mission for Sustainable Agriculture / Tl'g:rq YR w e

Correct Answer :-

« National Mission on Pollution Control / TI@TI Uyl [BREINERIE]



Match the following:

1. Kuka Movement A. Lucknow (1936)
2. Mappila Rebellion B. Gujarat (1928)

3. Bardoli Satyagraha C. Kerala (1922)

4. All India Kisan Congress | D. Punjab (1854-72)

fae=of@a = o= =1

1. FepT 3T A. TTEAF (1936)
2. Afver fgiE B. I[=RId (1928)
3. IEe TcAE C. e (1922)

4. 3@ 9T Fae FEd | D. 9914 (1854-72)

1. 1-A, 2-B, 3-C, 4-D
2. 1-D, 2-B, 3-A, 4-C
3.1-D, 2-C, 3-B, 4-A
4. 3-D, 2-C, 1-A, 4-B
Correct Answer :-

- 1-D, 2-C, 3-B, 4-A

5) Bairam Khan was given the title of Khan-i-Khanum during the reign of: / RH G B 3?%?
UMHARTA & SR WH-U-THH Pt Uy i 7 oft:

1. Jahangir / \_ﬂﬁwl:'i'?
2. Humayun/@qﬁi
3. Babur / dlalX

4, Akbar / &Y

Correct Answer :-

« Humayun / ETIT!i

6) Active learning starts by posing questions, problems or scenario. This is best represented in:
/ afora Rreror wat, Tuwmai a1 ufkexd $ IRgd F1 A RY ST 81 FUBT Jad 351 UeRH

H gl

1. Problem-based learning / JHI-3THTRA SfATH

2. Technology-based learning / TR 1- SR Sifta

3. Inquiry-based learning / 3FAYUI-STETRG AT




4. Activity-based learning / TTfcfafe-SmemRa sifemy

Correct Answer :-

« Inquiry-based learning / S~NUL-3TETRd 3ifeRTH

7) ‘Aral Sea’ is one of the largest lakes in the world is completely vanished away due to
unscientific human intervention. In which country is Aral sea located? / ‘3R IR’ ﬁ%{ Cd|

T T 3t ° A T 8 S Sra—e WHd g¥a8U & HRUT I @¥E § a9 81 18 2
3RTA 9FR {9 %1 7 fRua 82

1. Kazakhstan / SoITRIEI
2. Estonia / Q@ﬁtﬂ
3. Latvia / NIGIERL

4. Venezuela / aﬁw

Correct Answer :-

« Kazakhstan / BRI

8) is a system introduced by the government where the issue price of food is much
lower than the market price to enable the poor to purchase the subsidized food. /

WHR §RI IRE DI T8 TH Yurrent 3, FPrad afewS) aret vivH ot wdle & forw e #)
TeH 1 3 W eIyl &1 i Yo 9ok You A 9gd &4 giar 2

1. Peoples Distribution System / S faaRor gomedt

2. Public Direct Service / TTdul-db Tief Tal

3. Public Distribution Scheme / TTdol=eh [IaR0T ArSHT
4, Public Distribution System / BICEIRCAEERY R

Correct Answer :-

« Public Distribution System / grdSfe fadvor gome

9) vote is exercised by the speaker in the house in case of a tie where in equal

numbers of members have voted in favour or against a bill or resolution. / THEdT (2T18) &1 fRAUfa

H Siafe fAdae a1 y=ard & U vd faRly & Aol 91 YA W= A | fha1 81 99 e H el gR1
Td BT SYANT foan Siren g1

1. Absolute / FRUE (QEH"]?E')

2. Primary / T firen
3. Relative / Jafdd
4, Casting / FuIa®



Correct Answer :-

» Casting / IElUIRED

10) Arrange the following events/movements in the correct order of their chronology:
1. Jalianwala bagh massacre

2. Second Civil Disobedience Movement

3. Boycott of Simon Commission

4. Quit India Movement /

fFrafafad gersil/ siial &Y I9% FIa®wd & JFIR Tl FH H AT HI:
1. SIfATaTal 91T §ATHIS

2, fodta wfamra srasm siigte

3. A3 HHIE BT dfgPR

4. HRd BIS! Mg

1.2-3-4-1

2. 1-2-3-4

3.1-3-4-2

4.1-3-2-4

Correct Answer :-

. 1-3-24

11) The Play ‘Neel-Darpan’ by Din Bandhu Mitra portrays the plight of: / Tﬂ:l' a'ﬁ o gk

IR ATee Hia-gdur A et fRufa &1 e fear man @:
1.Weavers/§:|w

2. Indigo Planters / Il ST G|

3. Landless Labourers / 'J-t[&l_sﬁ:f 3:|G|§€-|'
4, Bengali Artisans / STl HRIRI

Correct Answer :-

« Indigo Planters / <ITdl ST U]

12) 1n which year was Chhatrapati Shivaji Maharaj crowned as the Maratha King? / GEELIGI
Rrareil eR™ &1 g 9 TR1eT IS & =Y | 91 U811 T UT?



1. 1680
2. 1674

3. 1630

4. 1664

Correct Answer :-

13) The Government has started with the objective of promoting co-operative marketing of

agricultural produce for the benefit of farmers. / IXPRR AfPaIF AU S ﬁl’({ Tﬁ IS & m fago=
Y 9g1a1 3 $ ST A &1 BT 1 3|

1. National Agricultural Confederation Management Fund of India Ltd. / "R QH‘\IOM'CNN $T=ﬁ%3&21=r Baeie e
3T $f&an ferfrds

2. National Agricultural and Commerce Management Federation of India Ltd. / I Tl T8 HIAY A
T8 T 3 Sfear feifics

3. National Agricultural Cooperative Marketing Federation of India Ltd. / ERIE] e eRd PrfORfeg AT e
¥ 3t Sfear ferfics

4. National Agricultural Cooperative Management Federation of India Ltd. / A Wb eRd dIdiTRied Teie
g T 3Tt 3fSar ferfires

Correct Answer :-

¢ National Agricultural Cooperative Marketing Federation of India Ltd. / I Tl eaRd HisfuRfed e
T8 T 3 SfeaT feifics

14) Right to Education Act came into effect on ./ g &1 sftreR arftfray | [S1D§
BTl

1. 1 April 2010 / 1 3% 2010
2. 1 March 2011 / 1 A/ 2011
3. 1 February 2012 / 1 TRa3 2012

4. 1 May 2009 / 1 H% 2009

Correct Answer :-

« 1 April 2010 / 1 3/d 2010

15) is the difference between the value of a country's imports and exports for a given period.

j TRt & s aafy ¥ e el 3w & amara ok Frafa ged & fra o1 s B
1. The Balance of Economic growth / 3Mfdes fdeTr a1 e

2. The Balance of Payment / YA &1 A



3. The Balance of Trade / SR BT A

4, The Balance of Exchange rate / faFma R &1 e

Correct Answer :-

« The Balance of Trade / SITUR b1 HJa

16) Rajukas appointed by king Ashoka performed the following duty? / ITSIT 3RMTP G

frgaa vl A Fafataa sde A
1. Revenue / X[S¥d

2. Religious / eTfH

3. Military / &=

4. Judicial / =T

Correct Answer :-

- Judicial / AP

17) MRTP stands for ./ THIRETH BT ﬁﬁﬁ Y gl

1. Monopoly & Restrictive Trade Prohibition Act / BRI ]| @m 23 Uifgfa=M Tae
2. Monopoly & Restrictive Trade Pact / EIEII]| ng 2_6' BE

3. Monopoly & Restrictive Trade Practices Act / e Q@W—d E@ PIERR| Udc

4. Monopoly & Restrictive Trade Prices / EIETI]| @W 2_6' 5"3@?

Correct Answer :-

« Monopoly & Restrictive Trade Practices Act / AT Q@'m 2_6' Ufdeay Tae

18) At which places are the cave paintings found? / [T ICE] (ﬁﬁ"ﬂ) fra ®”M R UTe STd
8

1. All the above / TR Tt

2. Bhimbetka only / Had HadedT

3. Badami only / dHad STarH!
4, Ajanta only / Had 3fSidl

Correct Answer :-

« All the above / ST it



19) Ashtapradhan was the official council of: / SIFUYUTT THDI SMUBTRD qﬁ'ﬂ?{ YT:

1. Mughals /H"'I?ﬁ Eal
2. Marathas / ARTST3N &7

3. Afghans / SHITH] BT
4, Rajputs / wqgﬁ Eal

Correct Answer :-

« Marathas / TRTST3MI &1

20) In which among the following years, did India conduct series of nuclear tests? /

frefafea & & fea ad 6, yRa A ey wdiaon @1 geen s smaifea $i?
1. 1998
2. 1997
3. 1999

4. 1995

Correct Answer :-

« 1998

21) Who has the monopoly in issuing currency notes in India? / HRd H Hal m e

VR $1 § fr a1 ta1fUeR 22
1. Commercial Banks / GTW %
2. NABARD / ATETS

3. Ministry of Finance / fa wier
4. Reserve Bank of India / HR< Rerd §

Correct Answer :-

« Reserve Bank of India / HRAW Reid §
22) Who was the President of the Constituent Assembly? / AU HT P 3f &l S A2
1. K.M.Munshi / &.TH, 'E[Qﬁ

2. H.C.Mookerjee / T @Gﬁ
3. Dr. Rajendra Prasad / ISR



4. Dr. Ambedkar / SI. 3FSSH

Correct Answer :-

« Dr. Rajendra Prasad / S. USRI

23) Who gave the famous slogan “Garibi Hatao”? / "TRTET geTsit" &1 Ul ART fpam
feam?

1. Rajiv Gandhi / JTSid Tieft

2. Jayaprakash Narayan / SIIUDB IR ARTYU
3. Indira Gandhi / S{cxT TTieh

4. V. P. Singh / d1. 41, g

Correct Answer :-

« Indira Gandhi / 3T TTieh

24) Who is the proponent of social recitation method? / TS JEaR UTS UG fd BT
WA DI 62

1. Max Weber / A JsR

2. Karl Popper / HId IR

3. Auguste Comte / 3TE DI
4. Adam Wesley / USH GRSl

Correct Answer :-

« Adam Wesley / USH Grsy]

25) Who was well known as Lokhitwadi? / f= @i fgddrd! & 30 H ST ST Y12
1. Gopal Hari Deshmukh / e g1 m

2. Jyotibha Phule / Sl el

3. Ishwar Chand Vidyasagar / R 9¢ [TURR

4. M.G. Ranade / UH. Sit. IS

Correct Answer :-

« Gopal Hari Deshmukh / MuTd Bﬁw



26) A teacher gets immediate feedback by conducting ./ TP R1&gr® &

ST GIRT dehTel Ufagfy U T gl

1. programmed evaluation / & REZEC) & J-Ll\c'qiob b

2. summative evaluation / JRTTH® Jj\@licb"l

3. diagnostic evaluation / EEIEC? 410’*4]°b"|
4, formative evaluation / FTATOTE® Hedid1

Correct Answer :-

. formative evaluation / FIATOE® Hedid1

27) According to the Constitution, India is best described as a ./ ARYE & SR,

YR P T 3D & &u A afofa fear man g1
1. Union of States / IS0l &1 TG
2. Unitary State / ThTdHb T

3. Sovereign state / FUH I
4. Federation / P8R

Correct Answer :-

« Union of States / ISl &1 I

28) India achieved self-sufficiency in food grains by the year ./ HRE A a9

I% @rana A e Rer g a1
1. 1956
2. 1986
3. 1996

4, 1976

Correct Answer :-
e 1976

29) has replaced the Planning Commission of India. / = HRdg gieET
TN T R o R g1

1. Antyodaya Anna Yojana / TGy 3 o

2. Yojana Upay / IS SURT



3. Yojana Aayog / TSI SHTART
4. NITI Aayog / Hifdl STANT

Correct Answer :-

« NITI Aayog / Ifcl AR

30) Identifying the learning difficulties or weaknesses of pupils for instruction is known as: /

g & feore faenfdal &t s Te<h wfeagal ar suenial & ugar- &
Y H ST ST 81

1. Unit test / ST URTETT
2. Diagnostic test / AT Uteror

3. Prognostic test / fagTiRie wieror
4. Achievement test / U TI&f0T

Correct Answer :-

« Diagnostic test / e Ttem

31) The major objective of dramatization in the teaching of social science is: / GIESED

o & fRreor # Ared iy TUiaR 1 UHRa 3e=4 A ST giaT 8
1. Comprehension / Y
2. Knowledge / T

3. Research / ST

4. Application / 3TAG-

Correct Answer :-
« Comprehension / Y

32) The ‘Panchsheel’ agreement was signed between ./ “UERiter '\‘I'Flgﬁa R
& Aed gIeR fpu M)

1. China and Tibet / T 3R fossa
2. Pakistan and China / L‘IIIraI’J%CII"I GﬁT c|“|-|

3. India and Pakistan / YRd 3R Ulfhed
4, India and China / HIRd 3ﬁ? Eﬂ:f

Correct Answer :-



« India and China / HRd 3R T4

33) The age of the earth according to majority opinion is: / IgHd & SR, 1]'&?[ 4| S

1. 40-50 Billion Years / 40-50 fafera ay
2. 4-5 Billion Years / 4-5 fafera=y auf
3. 4-5 Million Years / 4-5 fHfera adf
4. 1-2 Billion Years / 1-2 fafero av

Correct Answer :-

« 4-5 Billion Years / 4-5 ﬁﬁfcﬂaﬁ

34) The strategy that enhances student knowledge and enables them to acquire
collaboration, communication and independent learning skills and prepare for lifelong

learningis:/ﬁ@ﬁﬁﬁﬁwmﬁm%ﬁﬁmﬂ,wsﬁ?wm
DI YT H 3R STiia AR & T Jary It 8:

1. Written assignment method / feTRad ﬂqﬂa:‘?l_'f Ui
2. Project method / gRASHT Tl

3. Practical method / TONTIH® UGidl

4. Demonstration method / THTONHRUT Uil

Correct Answer :-

« Project method / gRAeHT ggfd

35) The advantage of discussion method is: / =t faftr &1 A= ey %:
1. Emphasis on learning instead of teaching / 2187071 o SO AT W IR
2. Emphasis on learning with lecturing / o4RSHTH & 1Y STH W IR

3. Emphasis on learning with technology / WD & 1Y AT TR SR
4, Emphasis on learning with activity / FHRIGHATY & 1Y HfTH W IR

Correct Answer :-

« Emphasis on learning instead of teaching / TRT&0T & FoTg TTH TR IR



The only session of the Indian National Congress which was presided by Mahatma Gandhi

was held at : / WG ITTTT HTUHA BT THHAT o1 foraest sreagrar wetedm midh 3 &t 4,
gg1 maiford fasam mar or:

1. Allahabad / 2dlgldlq
2. Belgaum / CNUIG]
3. Karachi / BT

4. Surat / ¥Xd

Correct Answer :-

« Belgaum / CRUIES

37) The qualitative judgment of value and purpose is: / HeU MR G%W Ca|

U fAvfa gaT 81
1. Evaluation / Gl
2. Marking / 3f-

3. Examination / O31&f0T
4, Grading / VicRy

Correct Answer :-

« Evaluation / Hedih

38) NSE stands for ./ TTHs, P fagd U gl
1. National Support Establishment / AT JUIe Q@Wﬁ'
2. National Statistical Economy / Hd Wfefedma Wﬁ)[

3. National Statistical Enumeration / 7Rd ¥ fefedd 5'1H\QQI gl

4. National Stock Exchange / ARl T TRTS

Correct Answer :-

» National Stock Exchange / -Rd TP L{OR-Ia.\ﬂ

39) Which is not a characteristic of formative evaluation? / B I} fAafonaT® i L4
T fawar 781 82

1. It is an integral part of learning process. / g SIATH D1 UfdhdT T T A 3T %I
2. Tt is generally a teacher made test. / I8 39 AR W U e gr1 fAftfa te adten 31



3. It pinpoints difficulties being faced by a weak learner. / g Udh HUGIR gt & qro- A
arefl HSTSdl 1 3T BT 5 |

4, It does not help in the modification of instructional strategies / Y& G@QI'W Ut &
T=Ne 7 7aE Tel PR g |

Correct Answer :-

« It does not help in the modification of instructional strategies / g G@W Ul &
Te 7 g T8 PRar g |

40) Which is not a correct statement? / fRgfefaa # @ Cack: | Udh '\‘Iﬁ DY T'Iﬁ %?

1. Battle of Buxar was fought between British East India Company and Mir Jafar. / SRR P 5I':‘:

fofewr Swe Sfear St iR iR STAR & &g @<t 18 o

2. The third Anglo Mysore War was fought between British and Tipu Sultan. / RRT Tl ﬁﬁ? d&
fafesr ok dg Yo & sta a7 Tl

3. Partition of Bengal took place in 1905. / STITd b1 fauTS 1905 # g3l

4, Queen Victoria took the title of Empress of India in 1876. / HeRM! fageiRar 3 1876 H HRA &t
RIEIRICANCRICRINRER T

Correct Answer :-

« Battle of Buxar was fought between British East India Company and Mir Jafar. / SRR Gl Q’1$I$r

fafewr Swe Sfear S iR iR STAR & g @St 8 oY

41) Which Article in the Constitution grants special status to Jammu & Kashmir?/ Jdfau™

H P 1 3T ofFy 3R HIR P! fadiy goif qan @2
1. 369
2. 368
3.370

4,353

Correct Answer :-

« 370

42) Which of the following types of method gives priority to the individuality of the student?

| FFrafafad | 3 f5a vor o fafty om & dafdasar o wrufiea 36 82
1. Learner centered / TT&T Qﬁm
2. Teacher centered / 18/ dfad



3. Lecture centered / SRS dhigd
4. Subject centered / favg Hfad

Correct Answer :-

« Learner centered / TRr&meff fga

43) Which of the following is not one of the conceptual pillars of Human Development? /

Prafifad & @ a1 e e ¥ e @ § 9 te T8 22
1. Sustainability / TR

2. Productivity / SdTGehdl

3. Equality / HHIAdI

4. Empowerment / BRIIERER

Correct Answer :-

 Equality / JHIdT

44) Which of the following learning method is most effective in social science learning? /

frafafaa % @ o9 @ siftrm faft arnfore fagm dem & 9ed gurdt g2
1. Learning by reading / Uo- gRRT ey

2. Learning by rote memorization / 3% TRUI GRT ST

3. Learning by doing / ﬁ'm'lw STy

4, Learning by hearing / 4dUl gRR1 3T

Correct Answer :-

« Learning by doing / fhaTHeTe S{f&RTH

45) Which of the Indus Valley Civilization cities had a dock? / ﬁfﬂ "1 g1 ara fea
TG H S UI?

1. Harappa /g SWI

2. Lothal / Y

3. Alamgirpur / G‘I'IFITFW
4, Kalibangan /DTS

Correct Answer :-

o Lothal/ qAYA



46) Which among the following is a critique of society and culture drawing from knowledge

across social science and humanities disciplines? / afafea = k) aﬁq, LIEISED ﬁ?ﬂ‘[ 3R
AHfa®! fawal & I GRT THTS 3R TXHid BT FHIET HdT 82

1. Marxist theory / Wlaﬁa'l_cﬁ Rygid

2. Class theory / aﬁﬁl@ﬁ

3. Critical theory / TS Riid

4, Revolutionary theory / qﬁﬂ?&lﬁﬁﬁ Rrgia

Correct Answer :-

« Critical theory / TARHTH® [gGid

47) Which country has presidential system and executive powers are in the hands of the

President? / T8 &=1 & rpufa yomeht B ofk wrdeR} wfear wyufa & g1uf 7 gidt 82
1. UK/ g&

2. France / I

3. USA / guYU
4. Canada / h-lS]

Correct Answer :-

48) A child who is an extreme introvert may be reluctant to express himself in an overt
manner. Which technique can be used to study his/her personality traits? /

TSP g1 Il ARIP Say! 3, I8 e Bl GA 1P I e He 1 g 8l gpal
21 TP AfRI A&V BT YT B & e 5T qop-ite &1 v fear s goar 82

1. Projective technique / giRaiford db-iie
2. Dramatization / T TR

3. Demonstration / THTONHRT

4, Role play / RUNAT|

Correct Answer :-

« Projective technique / gfRaford db-itep



Which of the following is definitely achievable in a span of one period? / fFafafea 9 3 o9 fAfda s a
A TP 3afy P SicavTe A UTd 81 979 82

1. Ideal/\’dlaQi

2. Aimless / ﬁm
3. Objectives / 33@1
4, Oversight / fAeor

Correct Answer :-

¢ Objectives / 3%@1
50) CANCELLED
What part of a tidal cycle has minimal current? / SR 9% & fHd UITH “gAdH YRT

gt g2
1. None of these / Ezlﬁ I ﬁ_sc 7-|T5°[
2. Flood tide / SARIT &1

3. Ebb tide / HICT

4. Slack tide / & (D) YR
Correct Answer :-

. Slack tide / & (K1) YRT

51) Who was not the leader directly involved with Khilafat movement (1919-1924)? /

379 A DI A A1 fAgie SMieia(1919-1924) ¥ UHE =9 J 781 o A?
1. Mohammad Igbal / FIg™IE SHAETA
2. Mohammad Ali /IﬁEﬂZI'cZ 37t

3. Pir Ghulam Mujaddid Sarhandi / G NSIE| J;J,\ﬂllrad el
4. Maulana Shaukat Ali / T e 3feft

Correct Answer :-

« Mohammad Igbal / H\IG“-IQ P d[dd

52) Who wrote the ancient Indian Play Malvikagnimitram which referred to the defeat of
Yavanas on the bank of River Sindhu in the hands of Vasumitra? / UTtF] YR ATe®
ArafaeriitEy fea forar o, forad Rig 7 & de IR o & 314l ga+1 &1 gR &1
I UT?



1. Asvaghosha /31 YOy
2. Harsha/ E'Ef

3. Sudraka / g
4, Kalidasa / BTG

Correct Answer :-

. Kalidasa / PTG

53) Due to which of the following winds, Central Europe enjoys a warmer climate? /

fFrafafea d 9 f5 591 & SR, Teg QRIY TF TH Jaarg &7 3¢ SordT 82
1. Bergwind / CULGEE
2. Zonda / ST

3. Foehn / av_rf

4. Chinook / fa &

Correct Answer :-

« Foehn/ tor)

54) Which of the following is not a high cloud? / FUfIRAT # | ®19-91 3= 916 (8T8
FISS) 81 82

1. Stratus / &R] TG (¢ W)

2. Cirrostratus / T&TH TR] dled (RRICCH)

3. Cirrus / G&TY dTGd (RR9)

4. Cirrocumulus / G&TY HUTE! dTad (@Iﬂw

Correct Answer :-

. Stratus / &R TG @?ﬂ)

55) Which of the following is not a temperate Grassland or Shrub-Land Biome? | Frafafea

T A DI GURAAT URIRE I1 IS IeR ST (ads /i) T8l 82
1. Sahara / 9GRT
2. Veld / 3¢S

3, Prairie / ORI
4, Steppe / LS|



Correct Answer :-

« Sahara / BRI

56) ‘Al Aziziyah’, the hottest place on earth is located in which country? / t{?zﬁ R 999 T

R <31 Srehiforarg’ fora g=r & fRya 82
1. Libya / SfifeIT

2. Sudan / JsSId

3. Congo / G|

4, Nigeria/:l'IETrﬂf\’TlT

Correct Answer :-

. Libya / ciifad

57) The Treaty of Bassein was signedby  on December 31, 1802 with the British. /31

faiaR, 1802 maﬁvﬁ%wuaﬁﬂﬁmwm&nmwm
1. Yeshwantrao Holkar / TRIGARIT BITHR

2. Daulatrao Shinde / GIcTaRTd fRig

3. Ghasiram Kothwal / STRIRTH Sidarel

4. Bajirao 11 / TSR 11

Correct Answer :-

« Bajirao II / §ToiRTa 11

58) Rama’s Bridge or Rama Setu is located in which among the following straits? / XTH T

g a1 7w I Fafafad 4 3 v ardt 4 fRa @2
1. Cook Strait / b Bl WISl
2. Bering Strait/aﬁ"'[ﬁw

3. Palk Strait / Ul SICISHX™HY

4. Strait of Tebrau / COR® P} @'I_fﬁ

Correct Answer :-

« Palk Strait / Ul SIclSHESHY



E-Iea%ﬁng in social science helps the students for: / IS ﬁ?IF-I i i-ﬁﬁ'ﬂ Bl & A o Hoq
Pl 5:

1. Simulated learning / W S{feRTH

2. Rote learning / H3X AfETH

3. Learning by doing / WW STy

4, Anytime and anywhere learning / Hut ot iR W Y 3ffrTH

Correct Answer :-

« Anytime and anywhere learning / T i 3R gl ot sifermy

60) Where is Ring of Fire located? / 51 3T BrRR ﬁ\f@ﬁ' %?
1. Along the coast of Antarctic Sea / 3feThied IR & dc & A1y

2. Along the coast of Atlantic Ocean / 3cdifcd HEMNR o dc & 1Y
3. Along the coast of Indian Ocean / %E He TR FHIcH Y
4. Along the coast of Pacific Ocean / URITd HEHIR & dc & 1Y

Correct Answer :-

« Along the coast of Pacific Ocean / URITd IR & T & 1Y



